®

DRIVEN BY POSSIBILITY"

HEAVY-DUTY PRODUCT RANGE - DRIVEALIGN® HD IDLER PULLEYS

BEARING BORE

BEARING BORE

NO. OF OUTSIDE WIDTH CONTACT
PARTNO. | NOOTC | et poud INSIDE DjI.AMETER INSIDE D2IAMETER MATERIAL CURTACE NOTES
36091 0 74 39.25 17 - Steel Smooth /
backside
36092 0 74 46.25 17 - Steel Smooth /
backside
36093 8 74 37 17 - Steel Vribbed
grooved
36095 0 74 33 17 - Steel Smooth /
backside
36096 0 86.5 39.4 17 - Steel Smooth /
backside
36135 0 95 32 10 ) Thermoplastic Smooth /
backside
36157 6 87 31 17 . Steel v ribbed
grooved
36164 0 75 42,55 17 . Steel Smooth /
backside
36165 0 74 57 17 ; Steel Smooth /
backside
36167 6 112 27.5 17 - Steel v ribbed
grooved
36170 8 101 30 12 - Thermoplastic v ribbed
grooved
36177 6 85 29 12 . Steel v ribbed
grooved
36187 0 90 32 M10 ; Steel Smooth / M10 Bolt
backside




®

DRIVEN BY POSSIBILITY"

BEARING BORE BEARING BORE
NO. OF OUTSIDE WIDTH CONTACT
PARTNO. | oot | DIAMETER (mm) INSIDE DjI-AMETER INSIDE D2IAMETER MATERIAL SURFAGE NOTES
36195 0 74 47 M12 ] Steel Smooth / M12 Bolt
backside
36196 0 32 32 M10 ) Steel Smooth / M10 Bolt
backside
36223 6 83.5 29.5 17 ] Steel Vribbed
grooved
36225 0 76 31.3 17 ] Steel Smooth /
backside
36230 6 78 30 17 ; Steel Vribbed
grooved
36231 8 75 36.5 17 ] Steel V ribbed
grooved
36234 0 90 395 17 ] Steel Smooth /
backside
36237 0 90 25 10 ] Steel Smooth /
backside
36238 0 90 25 10.2 - Steel Smooth /
backside
36239 6 70 23 17 - Steel v ribbed
grooved
36259 0 80 48 10 ; Thermoplastic Smooth /
backside
36269 0 74 427 17 : Steel Smooth /
backside
36282 12 74 54.63 17 - Steel v ribbed
grooved
36283 0 86 39 17 ] Steel Smooth /
backside
36285 0 74 385 20 - Steel Smooth /
backside




DRIVEN BY POSSIBILITY"

®

BEARING BORE | BEARING BORE
NO. OF OUTSIDE WIDTH CONTACT
PARTNO. | NOOT | ek prud INSIDE DJI-AMETER INSIDE D2IAMETER MATERIAL contact NOTES
36286 0 70 50 20 ] Steel Smooth /
backside
36287 0 110 39.5 17 ] Steel Smooth /
backside
36288 8 107 39.5 17 ] Steel V ribbed
grooved
36291 0 75 33 12 ] Steel Smooth /
backside
36304 6 70 26 8 ) Thermoplastic Vribbed
grooved
36308 8 82.6 36 30 ; Steel Vribbed
grooved
36341 8 74 36 17 ] Steel V ribbed
grooved
36500 0 95 40 10 ] Thermoplastic Smooth /
backside
36501 0 74 355 10 . Steel Smooth /
backside
36508 9 81 365 18 - Thermoplastic Smooth /
backside
36514 0 74 34 17.5 - Steel Smooth /
backside
36515 0 107 34 M12 - Steel Smooth / M12 Bolt
backside
36516 0 65 32 M10 . Steel Smooth / M10 Bolt
backside
36517 8 81 34 11 - Thermoplastic v ribbed
grooved
36518 0 74 32 11 . Thermoplastic v ribbed
grooved




®

DRIVEN BY POSSIBILITY"

BEARING BORE | BEARING BORE
NO. OF OUTSIDE WIDTH CONTACT
PARTNO. | OB | OUSIDE ponal INSIDE DJI-AMETER INSIDE D2IAMETER MATERIAL st NOTES

36519 10 73 385 N.A NA Steel V ribbed With Casting
grooved Arm

36528 0 78 38 M10 ] Steel Smooth / M10 Bolt
backside

36529 0 78 38 M10 - Steel Smooth / M10 Bolt
backside

36623 0 78 38 M10 ] Steel Smooth / M10 Bolt
backside

36624 10 73 39.5 17 . Steel v ribbed
grooved

36742 0 70 34 M10 ] Steel Smooth / M10 Bolt
backside

38076 0 75 40 30 ] Steel Smooth /
backside

38089 0 80 25.5 8 ] Steel Smooth /
backside

38092 6 70 26.5 8 145 Thermoplastic Vribbed
grooved

38709 0 65 36 12 ] Steel Smooth /
backside




